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General Instructions :
(i) Please read the instructions carefully.

(it)  This question paper is divided into three sections, viz. — Section A,
Section B and Section C.

(iti) Section A is of 5 marks and has 6 questions on Employability Skills.

(a)  Questions number 1 to 4 are one mark questions. Attempt any
three questions.

(b)  Questions number 5 and 6 are two marks questions. Attempt any
one question.

(iv) Section B is of 17 marks and has 16 questions on Subject Specific Skills.

(a)  Questions number 7 to 13 are one mark questions. Attempt any
five questions.

(b)  Questions number 14 to 18 are two marks questions. Attempt any
three questions.

(c) Questions number 19 to 22 are three marks questions. Attempt any
two questions.

(v)  Section C is of 8 marks and has 3 Competency-Based Questions.

Questions number 23 to 25 are four marks questions. Attempt any two
questions.

(vi) Do as per the instructions given in the respective sections.
(vii) Marks allotted are mentioned against each section/question.

SECTION A
(Employability Skills) (3+2=5 marks)
Answer any 3 questions out of the given 4 questions. 3x1=3
1. What is a start-up ? 1
2 Mention any two competencies of organisational skill. é + é =1
3. Who is known as a ‘Green Collar Worker’ ? 1
4 Mention any two missions of National Action Plan on Climate Change
(NAPCO). é " é =1
Answer any 1 question out of the given 2 questions. Ix2=2
5. Explain any two ways by which aspiring entrepreneurs can identify new
business opportunities. 1+1=2
6. What is eco-tourism ? Mention any two green jobs in this field. 1+1=2
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SECTION B
(Subject Specific Skills) (5+6+6=17 marks)
Answer any 5 questions out of the given 7 questions. 5x1=5
7. Why are Globes the most accurate way to represent the Earth’s surface ? 1
8. What means were used for navigation during the Stone Age ? é + é =1
9. Name the fundamental principle of GPS used to calculate receiver’s
position. 1
10. Name the three basic colours of Multispectral Images. 1
11. Name the 3D software developed by ESRI. 1
12. Which technique was used in Kosi hazard mapping ? 1
13. In which State is Doddahalla watershed located ? 1
Answer any 3 questions out of the given 5 questions. 3x2=6
14. Why is WGS 84 used worldwide ? Explain. 2

15. Explain any two factors causing errors in positional accuracy in GPS.  1+1=2
16. What are the essential inputs in a vehicle tracking system with GPS ? 1+1=2

17. What is the most recent trend in remote sensing technology ? Mention

one of its uses. 1+1=2
18. Mention the two fundamental requirements of open GIS. 1+1=2
Answer any 2 questions out of the given 4 questions. 2x3=6
19. What is Digital Cartography ? Explain any two functions of it. 1+2=3

20. Which Global Positioning System works by cancelling out most of the
natural and man-made errors ? Explain the process of enabling precise
location. 1+2=3

21. What is Hyperspectral remote sensing ? Explain. I1x3=3

22. What is a Watershed ? How can Geospatial technology help in efficient
watershed management ? 1+2=3
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SECTION C
(Competency-Based Questions) (2x4=8 marks)

Answer any 2 questions out of the given 3 questions.

23. “GIS provides a visual framework for conceptualizing, understanding and
taking better decisions in various fields of life.” Justify this statement. Ix4=4

24. Which GIS enables a field officer to capture, store and update geographic
information on field ? Explain the advantages of this GIS. 1+3=4

25. Internal security of a country has become a burning issue nowadays. How

is the Police department using Geomatics to deal with this problem ?
Explain. Ix4=4

342 Page 7




